Day 5 Answers
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Developing/ Expected | Arithmetic Problem Solving Reasoning
pageS8) Task 1 Task 1 Task 3
Awvrard TWO marks for only two correct boxes ticked, as shown:
8. 13402 ,
There are more cheetahs than jaguars. Summer IS a No Slblll‘lgﬁ 15
5. 64 _ o quarter of the 1sibling a7
:Il'lf;e total number of lions and tigers is I:‘ Whﬂ le p|E Chal‘T 5 5'|b|,irq,5 20
: and there are 4 bl
: 10. 12490 One-quarter of the big cats are v . & SIbIIﬂES a1
w( cheetahs. quarte rsina 2 gihlu‘lgg a4
11- 150 There are more than 5 jaguars. I:‘ Whﬂle, S0 5 Siblif'IES g3
48 x 4 =184 =sror —
Award ONE mark for: .
people in total.
1 2. 50.1 4 . only one correct box ticked and no incorrect boxes ticked
OR
13. 21493 +  two correct boxes ticked and one incorrect box ticked. M M
Accept alternative unambiguous positive indications, e.g. Y.
Task 2 1 _ -
14. 30 o - zof 96 = 48 Jack is incorrect
ndicates all four correctly, ie: b h
1of 96 = 24 ecause t e same
s amount of girls
2of96 =12 and boys like
x maths.

12 people voted
X cats. BD}{'S:

50 % of 120 =60

v 48 people voted .
Elogs. Girls:
! Incomplete response 8 of 48 =6 60 % of 100 =
For 2 marks, do not accept any box left blank 6 x 3 =18. 60
I Other indication 18 fermales voted
Accepf any unambiguous indication, eg: for dogs.
- Y for ticked 48
1
or (elelelelele]6]6]
L ! J
I
Indicates any three correctly ‘IIB 30
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Day 5 Answers

Task 3
13 1

(al  Answerin the range 100 to & inclusive
T T

Range includes 6 and 7

Accept decimals or percentages.
(0.13 to 0.2 inclusive)
(13% to 20 % inclusive)

(b)  Answer in the range 500 to 800 inclusive




